
 

Q1.  A steel tank is completely filled to the top with 5.80 m3 of ethanol when both the tank and the 

ethanol are at a temperature of 45.7 oC. Now, the tank and its contents have been cooled to 16.3 oC. 

Calculate the additional volume of ethanol, in the unit liter, that can be added to fill the tank to the top.  

[For the steel 𝛽 = 3.60 × 10−5 𝐶0−1, for the ethanol 𝛽 = 7.50 × 10−4 𝐶0−1 ] 

 

A) 91.3 

B) 153 

C) 108 

D) 122 

E) 67.0 

 

 

Q2.  Two rods, made of lead and copper, of equal lengths and diameters are attached to each other as 

shown in the figure. The rods are placed between hot and cold reservoirs with temperatures Th = 364 oC 

and Tc = 13.6 oC. Find the temperature T at the junction between the two rods. 

(Given klead=35.0 W/m.K, and kcopper= 401 W/m.K) 

 

A) 47.6 

B) 41.7 

C) 54.7 

D) 63.0 

E) 26.7 
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